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2007-08 District Competition

Match #22


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
A variant of it using boron trifluoride is used to measure neutrons.  It uses an inert gas-filled tube and displays output through a needle, lamp, or audible clicks.  It is named after a German physicist and sometimes also after Walther Muller.  Name this device that is used to measure amounts of ionizing radiation.

ANSWER: Geiger counter
2.
Found in all U.S. states except Alaska, this plant causes urushiol-induced contact dermatitis and has the scientific name Toxicodendron radicans.  Name this rash-inducing plant that can be a vine or shrub that inspired the saying ‘leaves of three, let it be.’

ANSWER: poison ivy
3.
It is associated with a practice called taqiyya (tah-kee-yah), or concealing one’s religious beliefs if one’s life is in danger. The Druze (drooz) consider themselves part of this group whose three most numerous branches are the Zaidiyyah (zah-ee-dee-yah), Seveners, and Twelvers. All consider Muhammad’s cousin, Ali, to be the rightful caliph (kah-leef). Southern Iraq and Iran have the most members of what branch of Islam, a rival to Sunni? 

ANSWER: Shi’ite Islam or Shia Islam

4.
This nation is now a republic where the political parties New Democracy and PASOK (pah-sawk) alternate in power. On October 28, 1940, this nation rejected an ultimatum from Mussolini and then defeated the Italian invasion. In 1967, the monarchy under Constantine II was replaced by the ‘Regime of the Colonels’ in what country, where power passed on to Giorgios Papadopoulos (pah-pah-daw-poo-los)?

ANSWER: Greece
5.
By the end of the book, the main character is now seventeen, but is serving as a nursemaid for her now-crippled mother Aurelia. However, she inherits the brick house in Riverboro from her aunt. She had moved there from the title location at age 10, and lived with her Aunts Miranda and Jane. What novel by Kate Douglas Wiggin is about the growing up of the oldest Randall girl, Rebecca? 

ANSWER: Rebecca of Sunnybrook Farm
6.
All but two of his 20 predecessors had either been murdered or killed in battle. After this low born Illyrian defeated his internal and external foes, he took away the last vestiges of the Republic, fought hyperinflation, started the last major Roman persecution of Christians, and reformed the succession system. He then retired to become a cabbage farmer. What Roman Emperor set up the tetrarchy, splitting the empire into two? 

ANSWER: Diocletian

7.
Its three main types have chemical formulas C18H22O2, C18H24O2, and C18H24O3.  Counter-intuitively, this hormone can be used to treat prostate cancer. Its functions include increasing bone formation and stimulating endometrial growth. It can be produced by the corpus luteum or the placenta at times. Uterine growth is encouraged by what main female sex hormone? 

ANSWER: estrogen
8.
One of the founders of Project Greenlight, he dropped out of Harvard to pursue an acting career.  He played a fictional version of himself in the movie-within-a-movie sequel of his Oscar-winning screenplay in Jay & Silent Bob Strike Back.  Starring as both aspiring thief Linus Caldwell and rogue assassin Jason Bourne is what actor, best known for his collaboration with Ben Affleck in Good Will Hunting?

ANSWER: Matt Damon
9.
One of this book’s title characters gets the help of Father Andrew, who teaches him Latin, making him more educated than the typical resident of Offal Court. The other proves his identity by showing the location of the Great Seal, and rewards his protector, Miles Hendon. Tom Canty and Edward Tudor are the title characters in what novel by Mark Twain about mistaken identity? 

ANSWER: The Prince and the Pauper
10.
This ten-letter word comes to us from a Latin word meaning, ‘instruction.’ It can refer to a field of study. It can also refer to the ability to act within rules and guidelines, especially with reference to athletic teams or armies. What word’s most common usage is as a verb that means, ‘to punish in order to train’? 

ANSWER: discipline
11.
Its subsidiary record labels included Tamla and Rare Earth. The artist Rockwell was the son of this record label’s father. The Funk Brothers provided most of the backup music on this label’s songs, but did not stay after it moved to Los Angeles in 1972. What record label, founded by Berry Gordy, Jr., was originally based in Detroit and included among its stars Smokey Robinson, Diana Ross, The Temptations, and Stevie Wonder? 

ANSWER: Motown Records

12.
THIS IS A COMPUTATION QUESTION. What is the sine of 150 degrees, which is equal to the sine of 30 degrees?

ANSWER: .5 or 1/2
13.
One of its most famous discoveries was of the "pillars of creation" in the Eagle Nebula, and it captured the collision of Comet Shoemaker-Levy 9 with Jupiter following its first servicing mission.  It is currently operating on only two of its six gyroscopes and is scheduled to be serviced again in 2008. Serviced in 1993 due to a faulty lens, what is this object orbiting Earth that allows astronomers to see deep into space? 

ANSWER: Hubble Space Telescope

14.
There are three attempted seductions in this poem: the would-be target yields only a total of six kisses, but gets a colored silk girdle. Four axe blows are exchanged between the title characters: one of them is a beheading, from which the beheaded picks up his head and walks away. In what medieval poem does one of King Arthur’s knights accept a challenge from a mysterious axe man in colored armor?

ANSWER: Sir Gawain and the Green Knight
15.
It gets its name from a silver mine in Bohemia, from which large silver guilder coins were produced that had the same value as a gold guilder. It was once defined as a unit of trade equal to 412.5 grains of 90% silver. A Dutch lion and Spanish piece of eight were varieties of it, and it is legal tender today in Liberia, Hong Kong, and New Zealand. What unit of currency is also used in Australia, Canada, and the United States? 

ANSWER: dollar(s)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A COMPUTATION QUESTION. How many ounces are in 2 tons?

ANSWER: 64,000 ounces

1B.
What car that Ford made between 1971 and 1980 became the subject of safety concerns in rear-end collisions, where it had a tendency to explode?

ANSWER: Ford Pinto
2A.
How many chambers does an amphibian’s heart have?

ANSWER: three
2B.
What phrase meaning ‘to avoid punishment’ did not originate from a slave that sued for his freedom, or from the thriftiness of people from England’s northern neighbor?

ANSWER: scot-free

3A.
In 1994, Chuck Robb won re-election to the U.S. Senate over what former Marine involved in the Iran-Contra scandal?

ANSWER: Oliver North
3B.
Chromatin condenses into chromosomes in what first phase of mitosis?

ANSWER: prophase
4A.
Manning Marable claims Alex Haley was working with the FBI as he interviewed the subject of what self-told life story?

ANSWER: The Autobiography of Malcolm X
4B.
The westernmost public college in Virginia is what school, formerly known as Clinch Valley College?

ANSWER: Univeristy of Virginia’s College at Wise (accept answers that contain UVA or Virginia and Wise)

5A.
What author of Fear and Loathing in Las Vegas and founder of gonzo journalism took his own life in February 2005?

ANSWER: Hunter S. Thompson
5B.
THIS IS A COMPUTATION QUESTION. What is the remainder when 10,783,942 is divided by 8?

ANSWER: 6
6A.
Who wrote the line ‘Things fall apart; the centre cannot hold,’ in his poem ‘The Second Coming’? 

ANSWER: W(illiam) B(utler) Yeats (yates)
6B.
What Committee in the House of Representatives doesn’t let members serve on other committees and has jurisdiction over Social Security and Medicare? 

ANSWER: Ways and Means Committee

7A.
The period between the death of Feodor I in 1598 and the ascension of Mikhail Romanov in 1613 is what chaotic period of Russian history? 

ANSWER: Time of Troubles or Smutnoye Vremya
7B.
THIS IS A COMPUTATION QUESTION. How many 6-foot by 9-foot rectangles can fit in a 15-foot by 18-foot rectangle?

ANSWER: five
8A.
THIS IS A COMPUTATION QUESTION. Solve for x.  x squared minus 11x plus 28 equals zero.

ANSWER: x equals 4 and x equals 7 (accept in either order)

8B.
In 1763, Augustus Toplady took shelter in a storm, inspiring what hymn that requests of the title object, to ‘cleft for me’ and to ‘Let me hide myself in Thee’? 

ANSWER: “Rock of Ages”

9A.
Who improved on Charles Barbier’s 12-dot code to devise a system of writing for the blind? 

ANSWER: Louis Braille
9B.
What is the SI unit of power?

ANSWER: watt
10A.
From the Greek for ‘beautiful writing,’ what art form is the use of brushes and pens to form decorative writing? 


ANSWER: calligraphy
10B.
What grammatical error occurs when two or more independent clauses are joined together without any punctuation or connecting word?

ANSWER: run-on or rambling sentence(s) (accept fused or blended)

Third period, 15 toss-ups, 10 points each

1.
Its first edition was published in 1855, major additions were made after the death of Abraham Lincoln, and its ‘Death-Bed’ edition was published in 1892 – expanding it from 12 poems to over 400. ‘Out of the Cradle Endlessly Rocking,’ ‘When Lilacs Last in the Dooryard Bloom’d,’ ‘I Sing the Body Electric,’ and ‘Song of Myself,’ are all included in what poetry collection by Walt Whitman?

ANSWER: Leaves of Grass
2.
While similar to the parallel type, it is different in that it uses different computers over a network, while the parallel type is the same computer with more than one processor. Name this type of computing made famous by projects such as folding@home (read as: folding at home) and SETI@home (read as: seh-tee at home)

ANSWER: Distributed (accept word forms) computing (accept grid computing)

3.
This man shot a bogey on the 17th hole at Southern Hills during the third round of the PGA Championship, which wouldn't be notable except for the fact that his partner recorded a par, which he failed to correct and was disqualified.  This came just a month after his misfortune at Carnoustie.  Who is this Spanish golfer, who lost in a playoff to Padraig Harrington at the 2007 British Open?

ANSWER: Sergio Garcia
4.
The largest one recorded was over 7 inches in diameter, and the heaviest one weighed more than 1.5 pounds. On April 10, 2001, it caused $1.5 billion in insured losses, another record. Often found near the center of a rotating thunderstorm or tornado, its diameter is usually less than two inches. Freezing and re-freezing droplets of water creates what severe weather phenomenon that coats a summertime street in ice?

ANSWER: hail
5.
Another woman with this name was the wife of Louis XIV. She founded the world’s first military academy. After a smallpox epidemic of 1767, she insisted her 16 children be inoculated against it. She was succeeded by her son Joseph II; due to the Salic Law, her husband Francis I was Holy Roman Emperor. The mother of Marie Antoinette and the only Habsburg woman to rule was what Austrian empress? 

ANSWER: Maria Theresa
6.
Early in this novel, this book’s title character is begging and works odd jobs for his friend Mahbub Ali. He is recognized by a Masonic certificate, and thus leaves Teshoo Lama to go study in Lucknow. He continues to study the clandestine arts, though, and assists the Babu by obtaining Russian documents. The orphaned son of a British army officer is the title character of what Rudyard Kipling novel set in India? 

ANSWER: Kim 

7.
Quotes attributed to him include: ‘The worst crime against working people is a company which fails to operate at a profit’ and ‘It is impossible for capitalists and laborers to have common interests.’ He broke with fellow leftist Eugene Debs and supported America’s entry into World War I. Apprenticed as a cigar-maker at age 10, who was the first president of the American Federation of Labor? 

ANSWER: Samuel Gompers
8.
This agreement splits nations into ‘Annex I’ (annex one) or developed countries, and ‘Non-Annex I,’ or developing countries. It allows for offsets and credits to count as ‘reductions’ of the target chemical compound. Australia and the United States are the only two developed nations not to sign what document related to the United Nations climate change treaty and authored in Japan?

ANSWER: Kyoto Protocol

9.
Fifty mounted cannon and over a “thousand reeds springing up like weeds” were merely part of the ensemble visualized in this song. It is sung right after the love ballad “Goodnight My Someone” and in fact has the exact same tune. The title objects are followed by “rows and rows of the finest virtuosos” and have “a hundred and ten cornets close at hand.” What is this most famous song from The Music Man? 

ANSWER: “Seventy-Six Trombones”

10.
It is mined in Sudbury, Canada; Norilsk, Russia; and Riddle, Oregon.  Its Raney type is an alloy with aluminum.  Postulated to be found in the inner core with iron, its most abundant isotopes have mass numbers 58, 60, and 62.  Name this transition metal element with atomic number 28 and symbol Ni, which shares its name with a five-cent coin. 

ANSWER: nickel
11.
In this language, zanmen (zahn-men) means “we” if the listener is included and women (waw-men) means “we” if the listener is excluded. It has four tones: the first is high, the second rising, the third falling-rising, and the fourth falling. Its speakers call it names meaning the “speech of officials” or “Northern dialect.” Over 800 million people speak what most common variety of Chinese? 

ANSWER: Mandarin Chinese or Guanhua or Beifanghua (prompt on “Chinese”)

12.
When he died in 1913, flags flew at half-staff on Wall Street. He hated being photographed due to his rosacea (roh-zay-shuh). He assumed full control of his firm in 1893, when Tony Drexel died. He soon after re-supplied the US Treasury with gold after the Panic of 1893. In 1901, what wealthy financier oversaw the creation of U.S. Steel, and in 1907 personally organized bankers to prevent the Panic of 1907? 

ANSWER: J(ohn) P(ierpoint) Morgan
13.
At 6 feet, 8 inches, it was big; Pierre-August Renoir called it a ‘big gendarme’ (zhawn-darm). Its base states that it was sculpted by Alexandros of Antioch, but the first experts to look at it thought it was a work of Praxiteles (prak-sih-tuh-leez). What statue might be holding the golden apple won at the Judgment of Paris, if only its arms were still attached? 

ANSWER: Venus de Milo(s) (accept “Aphrodite” in place of “Venus”)

14.
His birthday is celebrated by German-Americans on a weekend near September 17. He improved camp sanitation standards, taught proper use of the bayonet, and provided knowledge of Prussian military methods to a newly-formed army. Who wrote ‘Regulations for the Order and Discipline of the Troops of the United States’ in order to provide the Continental Army the essentials of military drill?  

ANSWER: Friedrich Wilhelm Ludolf Gerhard Augustin Steuben (Accept Baron von Steuben) 

15.
THIS IS A COMPUTATION QUESTION. What percentage of a chessboard is occupied at the start of a game, given that each player starts with 16 pieces and the board is 8 squares by 8 squares?

ANSWER: 50 percent

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Three half-sized replicas of its most famous component travel around the country. It opened in 1982, a Frederic Hart statue of three soldiers was added in 1984, and a Glenda Goodacre statue of a woman with an empty helmet was added in 1993. However, what memorial in Washington DC is best-known for Maya Lin’s black granite sculpture, a wall on which is carved 58,256 names? 

ANSWER: the Vietnam (War) Veterans Memorial (accept Vietnam Wall before ‘wall’ is said, prompt on ‘The Wall’)

2.
Also known as methanal (meh-thuh-nal), it has a molar mass of 30 and is an intermediate in the combustion of methane.  Its uses include disinfecting, preserving vaccinations, treating warts, producing glue, and fixing tissues.  Name this possible carcinogen that has molecular formula CH2O.

ANSWER: formaldehyde
3.
Originally named Podarces (poh-dar-seez), he saved his life by giving Heracles a golden veil. His first wife, Arisbe, gave birth to his son Aesacus (ee-sah-kus). Some of his lesser known children include Polyxena (paw-lik-see-nuh), Laodice (lah-oh-dih-suh), Polydorus, and Deiphobus (day-foh-bus). Who was the husband of Hecuba, father of Paris and Hector, and last king of Troy? 

ANSWER: King Priam
4.
It features a picture of Archimedes, comes with 15,000 Canadian dollars, has to go to someone forty years or younger, and was first awarded to Lars Ahlfors and Jesse Douglas in 1936.  Grigori Perelman declined his in 2006.  Name this award given by the International Mathematical Union that is considered the most prestigious in math. 

ANSWER: Fields Medal

5.
He was a foundling on the streets of Liverpool, and was adopted in 1768. He ran away from home in 1780 after his life’s love announced her marriage to another man, and died in 1802, a broken man. Between 1782 and 1802, he bought Thrushcross Grange, got revenge on Hindley Earnshaw and Edgar Linton, and was haunted by the ghost of Catherine Earnshaw. Who was this protagonist of Wuthering Heights? 

ANSWER: Heathcliff
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